floorsight

Installation Guide

Package:

NoSwipeNoPower

Floorsight

GPO

Sensor
NoSwipeNoPower

Parts included:

x1 X2 —x11

132cm | 18cm

30cm

1m

1.2m

1x Floorsight Power Puck
1x 89mm Retention Ring
1x Floorsight sensor

1x Desk Mounted General Pupose Outlet
1x 60mm Retention Ring

1x Floorsight-GPO Lagoon Connector

1x Floorsight Splitter Module
1x Floorsight Splitter Mounting Plate

1x NoSwipeNoPower Module

1x 4*25mm Wood Screw
11x 3*16mm Wood Screw
2x 3*20mm Wood screw

1x 30cm 3.5mm 4-pin Audio Cable
1x 1m 3.5mm 3-pin Audio Cable
1x 1.2m 2.5mm 3-pin Audio Cable

1x Y-split 24V DC Power Supply




3N N
/. I /{] 1
M Illlll;'JH]‘_
f/ \
- 4 \
—> — <4+— 89mm
- e 4+—60mm
If the desk does not have a pre-drilled hole then you will need to do this
with both a 3.5 (89mm) inch and 60mm holesaw. See accompanying
drawing for detail.

hole.

Place the lagoon over holes. Press the floorsight module into the 89mm

|

’

>

l

SCrews.

Screw on the floorsight retention ring. Fix in place with 3x16mm wood

<€
7

There needs to be at least 2 AC power outlets BEFORE the relay.

Connect the NoSwipeNoPower relay unit in configuration as specified by the client.

Yy

rvh

|Insta|| NoSwipeNoPower unit as specified by client.

<0.2m

Pussssanne
J—
[

Screw mounting plate to underside of desk with 3x16mm wood screws , no
further than 0.2m from the floorsight puck.

DO NOT OVERTIGHTEN SCREWS




A Avoid moving parts of adjustable height desks

Plug 24V DC power connector and short (30cm) 3.5mm audio cable. Press >
into slots on side of enclosure. -
\
§ \
N
§ \
N\
@
- @
— Insert the loose end of the short (30cm) 3.5mm audio cable into the floorsight
puck.
R N g B ———
— —— — e —
— e —
<> {
. == <.
- W o TE— >
— ://,_,_,/
=
(@]
/ ml- 7“‘-‘17—@“::_ \‘[::_:_//_,_ ¢ )
Insert 2.5mm (1.2m) audio cable into the splitter. Insert the other end into the
| NoSwipeNoPower relay unit.

Press the splitter onto the mounting plate, aligning the screws with mounting

holes. Slide the unit until it clips firmly into position. (Optional: Lock in place
with 4x25mm wood screw).

Prdk N
f N

-
‘ ‘ 1
P

| Screw the floorsense sensor module in to the centre of the desk.

A MAXIMUM 1 metre apart

(//‘,i (\

Insert the power cable into an AC outlet upstream of the relay unit.




Connect ééhsor module to the floorsight splitter via 1m stereo cable.
Connect the splitter to the floorsight module. See splitter installation
instructions for more detail.

51515}

— rrreee

To control power through the NoSwipeNoPower relay box, move the switch
to the O position.

(@

G

/

1

f s A
0\ . 3

SRS
-4

)
®

/ |

Firmly screw on the GPO retention ring. Fix in place with 3x16mm wood
SCrews.

Connect the GPO Connector to the desks soft-wiring system.

/ |
/4‘1
- - -
-
[ ‘ = I
=] i),

Insert free 24V DC connector into floorsight puk. Insert the power cable
into an AC outlet upstream of the relay unit.

Y ". .
g P’
»
L UNP
NS N
WS
N
N 5 \h
~
.
<y
» 2
N/
N .
e

|Connect desk power chain to upstream power.

V Installation Complete!

Floorsight insatallation is now complete. If the power is on you will see the
light begin to flash. If module is not already configured, please see
configuration guide. For more information head to floorsen.se/support




Floorsight Relay Configuration

= Relay
0 =
Mains | | controlled
Qe L devices

Switch in O position
for normal operation

< pE— ’— Relay Signal

' ACIN

L To Floorsight desk puck —»




